
N = 1633
1633 circles in a circle

radius =   0.023169118061
ratio  =  43.160900529408

density  = 0.876607515833
contacts = 4108

 E.SPECHT
18-APR-2014

N = 1634
1634 circles in a circle

radius =   0.023156639219
ratio  =  43.184159434200

density  = 0.876199721839
contacts = 3176

 E.SPECHT
18-APR-2014

N = 1635
1635 circles in a circle

radius =   0.023146672666
ratio  =  43.202753779655

density  = 0.875981424741
contacts = 4125

 E.SPECHT
18-APR-2014

N = 1636
1636 circles in a circle

radius =   0.023140369781
ratio  =  43.214521179456

density  = 0.876039903449
contacts = 3169

 E.SPECHT
17-APR-2014

N = 1637
1637 circles in a circle

radius =   0.023132251627
ratio  =  43.229687110018

density  = 0.875960443979
contacts = 3104

 E.SPECHT
17-APR-2014

N = 1638
1638 circles in a circle

radius =   0.023131984952
ratio  =  43.230185480416

density  = 0.876475336159
contacts = 3085

 E.SPECHT
18-APR-2014

N = 1639
1639 circles in a circle

radius =   0.023134076743
ratio  =  43.226276591998

density  = 0.877169045576
contacts = 4196

 E.SPECHT
10-JUN-2014

N = 1640
1640 circles in a circle

radius =   0.023109311812
ratio  =  43.272599726874

density  = 0.875826079568
contacts = 3230

 E.SPECHT
18-APR-2014

N = 1641
1641 circles in a circle

radius =   0.023099358647
ratio  =  43.291245236764

density  = 0.875605387012
contacts = 4219

 E.SPECHT
17-APR-2014

N = 1642
1642 circles in a circle

radius =   0.023086262891
ratio  =  43.315802332492

density  = 0.875145827306
contacts = 4231

 E.SPECHT
17-APR-2014

N = 1643
1643 circles in a circle

radius =   0.023078760720
ratio  =  43.329882923419

density  = 0.875109769611
contacts = 4269

 E.SPECHT
18-APR-2014

N = 1644
1644 circles in a circle

radius =   0.023071061266
ratio  =  43.344343307665

density  = 0.875058238918
contacts = 3856

 E.SPECHT
18-APR-2014


